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NAME ___________________

Quiz #5   Date: March 9, 2001

☺☺☺☺☺

1) A bond issued by Shady Enterprises and rated as Caa by Moody, gives annual interest for 10 years of  $700 and will be redeemed the par value of $10,000 in ten years. If the market interest rate yield for such rated bonds is 25%, what is the market value of the bond at present?

PW  
= 700(P/A,25%, 10) + 10,000(P/F,25%,10)


= 700(3.571)+10000(0.1047)


= 3546.7

2) Two machines are being compared with a view to purchase. Which machine should be purchased if the MARR is 5%?






A


B

Initial Cost


600,000


900,000

Annual benefit


105,000


190,000

Salvage Value


100,000


200,000

Useful Life


5


10

Use incremental rate of return to decide the answer. Note: you need only show your working as an equation showing the shorthand form of the economic analysis (e.g. with terms in the form (P/F, i, n). Assume that each has a rate of return greater than 5%. Make sure that you show the process you would go through.

Cash Flow


A
B
B-A

0
-600000
-900000
-300000

1
105000
190000
85000

2
105000
190000
85000

3
105000
190000
85000

4
105000
190000
85000

5
105000

+100000

-600000
190000
85000

-100000

+600000

6
105000
190000
85000

7
105000
190000
85000

8
105000
190000
85000

9
105000
190000
85000

10
105000

+100000
190000

+200000
85000

+100000

PW = -300000+85000(P/A,i,10)+500000(P/F,i,5)+100000(P/F,i,10) 

PW = 0 Solve i, if i >5% (MARR) choose B otherwise choose A 

